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incorrect about this

In your own words,
starting position.

write what’s

Puzzler #32

\ &

In your own words
write what’s wrong
(not allowed) in
this position.
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In your own words
write what’s wrong
(not allowed) in
this position.




Explain why White

is not allowed to
castle on the queen

side (0-0-0).

Puzzler #33
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Explain why White



Puzzler #34

Circle the chessman that
isn’t where the score
sheet says it should be.

s Whi Black
Circle the chessman that 8 E% Q_%@%%Z 2' 1) dz-c::e Ngasc-fb
isn’t where the score . 1/4 I;/:g 1% /Igi 2) c2-c4  e7-eb
sheet says it should be. Ié 7 7}, 7 3) Ngif3 BiS-ba+
sl 78/ W 7 4) Nbi-c3 Bxc3+
) 77, =,
White Black 5 ' % Z/_Qf ///% % O 2 baxe oo
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Circle the chessman that

isn’t where the score
sheet says it should be.

g White Black
Circle the chessman that A & %E?@%I 1) d2-d4¢  d7-d5

isn’t where the score Ig Ij/Ié @1 /Ig I 2) Bclf4  Ng8-f6
sheet says it should be. A AE B AT 3) Nglf3  el-e6
% 7 % 22 4) e2-e3 c7-c5

7,,, 02,0, 5) c2c4  Nbs<c

White

Black

,,,,,,

1) d2-d4 d7-d5
2) C2-C4 e?-e6
3) Nbl-c3  Ng8-f6
4) Bcl-g5  Bf8-e?
5) e2-e3 0-0
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